GSE Algebra 1 5.1 - Substitution Name:

How Do You Solve a System of Equations by Substitution?

3x+2y =10
2x—y=9

1st: Choose one equation and solve for x or y.
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274: Substityte the expression from that equation into the other
equation and solve.
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3™ Substit e value found in step 2 back into the equation
solved step one.

I 0= =
2( Y= ﬂ ’%

g2

4tb. WMred pair.
(4 -1)




Solve the following systems using substitution.
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5. Word problem ;L:Lm_’l—lgi /\}O SOI Unon
Mrs. Flips sold 300 cookies for her bake sale. She sol 0 typesof cook rge chocolate chip and small

peanut butter cookies. ohe charged $1 for the chocolate chip and 50-cents fﬁ the peanut butter cookies and
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6. Word problem -0.560 —oxp

Paco’s Tacos sold 280 food items from obile unit. Only tacos ($2 each) and burritos ($3 each) were
6%05 and how many burritos did it sell?
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